
Item Code Description Notes
GR-S200P-1 TYPE I NUT M6
GR-S200P-2 LEFT WHEEL COVER PLATE
GR-S200P-3 TYPE I NUT M16 LEFT
GR-S200P-4 FLANGE
GR-S200P-5 LEFT WA GRINDING WHEEL 200X25X15.88MM?80 G?
GR-S200P-6 PHILIPS SCREW+SPRING WASHER ASSYM6X18
GR-S200P-7 SPARK DEFLECTOR
GR-S200P-8 PHILIPS SCREW+SPRING WASHER+FLAT WASHER ASSY M5X10
GR-S200P-9 LEFT WHEEL INNER COVER
GR-S200P-10 LEFT MOVEABLE WORK REST
GR-S200P-11 LEFT FIXING WORK REST
GR-S200P-12 FLAT WASHER D8
GR-S200P-13 HEXAGON BOLT M8×12
GR-S200P-14 FLAT WASHER D6
GR-S200P-15 WORK REST LOCKING KNOB
GR-S200P-16 CUP HEAD SQUARE NECK SCREW M6X18
GR-S200P-17 PHILIPS SCREW M4X10
GR-S200P-18 EYESHIELD PRESSING PLATE
GR-S200P-19 FLANGE FACE NUT M6
GR-S200P-20 FLANGE FACE NUT M4
GR-S200P-21 PHILIPS SCREW M6×25
GR-S200P-22 SPRING WASHER D6
GR-S200P-23 END COVER
GR-S200P-24 RIGHT WHEEL INNER COVER
GR-S200P-25 RIGHT WA GRINDING WHEEL 200X25X15.88MM?120 G?
GR-S200P-26 TYPE I HEX NUT M16
GR-S200P-27 WAVE WASHER D52
GR-S200P-28 STATOR
GR-S200P-29 POWER CORD SHEATH
GR-S200P-30 STAR LOCKING WASHER D4
GR-S200P-31 PHILIPS SCREW+SPRING WASHER+FLAT WASHER ASSY M4X8
GR-S200P-32 BEARING 6205-RZ
GR-S200P-33 ROTOR
GR-S200P-34 POWER CORD WITH PLUG-SAA
GR-S200P-35 CORD CLIP
GR-S200P-36 CORD BASE PLATE
GR-S200P-37 DUST PORT
GR-S200P-38 BASE
GR-S200P-39 TYPEI HEX NUT M5
GR-S200P-40 SPRING WASHER D5
GR-S200P-41 SQUARE NECK BOLT M5×12
GR-S200P-42 RIGHT WHEEL COVER PLATE
GR-S200P-43 HEX BOLT+SPRING WASHER M8X25
GR-S200P-44 NVR SWITCH WITH RED COVER KJD18
GR-S200P-45 PHILIPS SCREW M4X8
GR-S200P-46 BASE COVER PLATE
GR-S200P-47 RUBBER FOOT
GR-S200P-48 BIG FLAT WASHER D5
GR-S200P-49 PHILIPS SCREW M5X20
GR-S200P-50 CAPACITOR 20UF/450V
GR-S200P-51 RIGHT FIXING WORK REST
GR-S200P-52 RIGHT MOVEABLE WORK REST
GR-S200P-53 FLAT EYESHIELD-OVAL
GR-S200P-54 PHILIPS SCREW M4X16
GR-S200P-55 PHILIPS SCREW M4X16
GR-S200P-56 STAR LOCKING WASHER D4
GR-S200P-57 HEX NUT M4
GR-S200P-58 LEFT EYESHIELD BRACKET
GR-S200P-59 PRESSING PIECE
GR-S200P-60 FLAT WASHER D6
GR-S200P-61 HEX BOLT M6X14
GR-S200P-62 RIGHT EYESHIELD BRACKET
GR-S200P-63 STRAIN RELIEF PLATE
GR-S200P-64 STRAIN RELIEF SUBPLATE


